
  9.ročnik putovní pohár šipky jednotlivce 301 D.O. 

SSKN Plzeň 
       Dne 15.3.2025 

Účast muži 33 osob a ženy 10 osob 

SKUPINA ,,A,,

Ženy

0 : 2 0 : 2 2 : 1 0 : 2 2 - 5 Valentová 1 : 2 Mališková

3 - 4 Částková 2 : 0 Hörtenhuberová

2 : 0 2 : 1 0 : 2 1 : 2 5 - 3 Mališková 1 : 2 Částková

1 - 2 Franková 0 : 2 Valentová

2 : 0 1 : 2 2 : 0 2 : 1 3 - 1 Částková 2 : 0 Franková

4 - 5 Hörtenhuberová 0 : 2 Mališková

1 : 2 2 : 0 0 : 2 0 : 2 1 - 4 Franková 2 : 1 Hörtenhuberová

2 - 3 Valentová 2 : 1 Částková

2 : 0 2 : 1 1 : 2 2 : 0 4 - 2 Hörtenhuberová 2 : 0 Valentová

 5 - 1 Mališková 2 : 0 Franková

SKUPINA ,,B,,

Ženy

2 : 0 2 : 1 2 : 1 0 : 2 2 - 5 Konečná 0 : 2 Eisenhammerová

3 - 4 Matýsková 2 : 1 Lincová

0 : 2 1 : 2 0 : 2 0 : 2 5 - 3 Eisenhammerová 2 : 0 Matýsková

1 - 2 Čmolíková 2 : 0 Konečná

1 : 2 2 : 1 2 : 1 0 : 2 3 - 1 Matýsková 1 : 2 Čmolíková

4 - 5 Lincová 0 : 2 Eisenhammerová

1 : 2 2 : 0 1 : 2 0 : 2 1 - 4 Čmolíková 2 : 1 Lincová

2 - 3 Konečná 1 : 2 Matýsková

2 : 0 2 : 0 2 : 0 2 : 0 4 - 2 Lincová 2 : 0 Konečná

 5 - 1 Eisenhammerová 2 : 0 Čmolíková
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SKUPINA ,,A,,

Muži

1 : 2 2 : 1 1 : 2 2 : 1 2 - 5 Sochor 1 : 2 Černý

3 - 4 Korábečný 0 : 2 Mimra

2 : 1 2 : 1 1 : 2 1 : 2 5 - 3 Černý 1 : 2 Korábečný

1 - 2 Hájek 1 : 2 Sochor

1 : 2 1 : 2 0 : 2 2 : 1 3 - 1 Korábečný 1 : 2 Hájek

4 - 5 Mimra 2 : 0 Černý

2 : 1 2 : 1 2 : 0 2 : 0 1 - 4 Hájek 1 : 2 Mimra

2 - 3 Sochor 2 : 1 Korábečný

1 : 2 2 : 1 1 : 2 0 : 2 4 - 2 Mimra 2 : 1 Sochor

 5 - 1 Černý 1 : 2 Hájek

SKUPINA ,,B,,

Muži

1 : 2 0 : 2 2 : 0 0 : 0 2 - 5 Holub : 0

3 - 4 Šlajs 0 : 2 Vosádka

2 : 1 2 : 1 2 : 1 0 : 0 5 - 3 0 : Šlajs

1 - 2 Šmehlík 1 : 2 Holub

2 : 0 1 : 2 0 : 2 0 : 0 3 - 1 Šlajs 2 : 0 Šmehlík

4 - 5 Vosádka : 0

0 : 2 1 : 2 2 : 0 0 : 0 1 - 4 Šmehlík 2 : 0 Vosádka

2 - 3 Holub 2 : 1 Šlajs

0 : 0 0 : 0 0 : 0 0 : 0 4 - 2 Vosádka 1 : 2 Holub

 5 - 1 0 : Šmehlík

SKUPINA ,,C,,

Muži

2 : 0 0 : 2 2 : 0 0 : 0 2 - 5 Stary : 0

3 - 4 Gorol 2 : 1 Macenauer

0 : 2 0 : 2 2 : 1 0 : 0 5 - 3 0 : Gorol

1 - 2 Jankovíč 2 : 0 Stary

2 : 0 2 : 0 2 : 1 0 : 0 3 - 1 Gorol 2 : 0 Jankovíč

4 - 5 Macenauer : 0

0 : 2 1 : 2 1 : 2 0 : 0 1 - 4 Jankovíč 2 : 0 Macenauer

2 - 3 Stary 0 : 2 Gorol

0 : 0 0 : 0 0 : 0 0 : 0 4 - 2 Macenauer 1 : 2 Stary

 5 - 1 0 : Jankovíč

SKUPINA ,,D,,

Muži

2 : 1 2 : 0 2 : 1 0 : 0 2 - 5 Jiříkovský : 0

3 - 4 Egermaier 0 : 2 Várka

1 : 2 2 : 0 0 : 2 0 : 0 5 - 3 0 : Egermaier

1 - 2 Cedrych 2 : 1 Jiříkovský

0 : 2 0 : 2 0 : 2 0 : 0 3 - 1 Egermaier 0 : 2 Cedrych

4 - 5 Várka : 0

1 : 2 2 : 0 2 : 0 0 : 0 1 - 4 Cedrych 2 : 1 Várka

2 - 3 Jiříkovský 2 : 0 Egermaier

0 : 0 0 : 0 0 : 0 0 : 0 4 - 2 Várka 2 : 0 Jiříkovský

 5 - 1 0 : Cedrych
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SKUPINA ,,E,,

Muži

2 : 1 2 : 1 0 : 2 0 : 0 2 - 5 Kotáb : 0

3 - 4 Král 1 : 2 Studený

1 : 2 2 : 0 2 : 0 0 : 0 5 - 3 0 : Král

1 - 2 Škuta 2 : 1 Kotáb

1 : 2 0 : 2 1 : 2 0 : 0 3 - 1 Král 1 : 2 Škuta

4 - 5 Studený : 0

2 : 0 0 : 2 2 : 1 0 : 0 1 - 4 Škuta 0 : 2 Studený

2 - 3 Kotáb 2 : 0 Král

0 : 0 0 : 0 0 : 0 0 : 0 4 - 2 Studený 0 : 2 Kotáb

 5 - 1 0 : Škuta

SKUPINA ,,F,,

Muži

0 : 2 0 : 2 0 : 2 0 : 0 2 - 5 Mižigar : 0

3 - 4 Kalíšek 0 : 2 Uhlíř

2 : 0 2 : 1 1 : 2 0 : 0 5 - 3 0 : Kalíšek

1 - 2 Tressl 0 : 2 Mižigar

2 : 0 1 : 2 0 : 2 0 : 0 3 - 1 Kalíšek 2 : 0 Tressl

4 - 5 Uhlíř : 0

2 : 0 2 : 1 2 : 0 0 : 0 1 - 4 Tressl 0 : 2 Uhlíř

2 - 3 Mižigar 2 : 1 Kalíšek

0 : 0 0 : 0 0 : 0 0 : 0 4 - 2 Uhlíř 2 : 1 Mižigar

 5 - 1 0 : Tressl

SKUPINA ,,G,,

Muži

0 : 2 0 : 2 2 : 0 0 : 0 2 - 5 Mareš : 0

3 - 4 Kalina 2 : 0 Štěpán

2 : 0 2 : 0 2 : 0 0 : 0 5 - 3 0 : Kalina

1 - 2 Šturm 0 : 2 Mareš

2 : 0 0 : 2 2 : 0 0 : 0 3 - 1 Kalina 2 : 0 Šturm

4 - 5 Štěpán : 0

0 : 2 0 : 2 0 : 2 0 : 0 1 - 4 Šturm 2 : 0 Štěpán

2 - 3 Mareš 2 : 0 Kalina

0 : 0 0 : 0 0 : 0 0 : 0 4 - 2 Štěpán 0 : 2 Mareš

 5 - 1 0 : Šturm

SKUPINA ,,H,,

Muži

0 : 2 2 : 0 2 : 0 0 : 0 2 - 5 Kulich : 0

3 - 4 Říha 0 : 2 Švarc

2 : 0 2 : 0 2 : 0 0 : 0 5 - 3 0 : Říha

1 - 2 Dolejš 0 : 2 Kulich

0 : 2 0 : 2 0 : 2 0 : 0 3 - 1 Říha 0 : 2 Dolejš

4 - 5 Švarc : 0

0 : 2 0 : 2 2 : 0 0 : 0 1 - 4 Dolejš 2 : 0 Švarc

2 - 3 Kulich 2 : 0 Říha

0 : 0 0 : 0 0 : 0 0 : 0 4 - 2 Švarc 0 : 2 Kulich

 5 - 1 0 : Dolejš
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